

$$\lim_{n \rightarrow r} \frac{r^n - a}{n^r + an + b} = -\infty \quad \frac{-}{0^+} = -\infty$$

$$(n-r)^r = n^r - rn + r \quad \leftarrow \text{نویس } 0^+ \text{ به } n \text{ بچسبیم}$$

$$a = -r \quad b = r \quad a+b=0$$

$$\lim_{n \rightarrow (\sqrt[r]{r})} \frac{n}{n^r + an + b} = +\infty \quad \left[\frac{b}{a} \right] = ?$$

$$\frac{+}{0^+} \rightarrow (n - \sqrt[r]{r})^r = n^r - \underbrace{r\sqrt[r]{r}}_a + \underbrace{\sqrt[r]{r^r}}_b$$

$$\frac{\frac{r}{r^{\frac{r}{r}}}}{-r \times r^{\frac{1}{r}}} = \frac{r^{\frac{r}{r}}}{r^{\frac{r}{r}}} = \left(\frac{1}{r} \right)^{\frac{1}{r}}$$

$$\left[\frac{\frac{r}{r^{\frac{r}{r}}}}{\sqrt[r]{\frac{1}{r}}} \right] = -1$$

$$\lim_{x \rightarrow \left(\frac{1}{\sqrt[r]{r}}\right)^+} \frac{[-x] + a}{\left| \frac{\sqrt[r]{r}}{r} x + a \right| + a} = -\infty \quad \sqrt[r]{r} \approx 1/\sqrt[r]{r}$$

$$\left| \frac{1}{r} + a \right| + a = 0$$

$$\frac{1}{r} + ra = 0$$

$$a = -\frac{1}{r}$$

$$[a] = -1$$

$$\lim_{n \rightarrow \left(-\frac{1}{r}\right)^+} \frac{r^n - \left[-\frac{r}{n^r}\right]}{r^n + \left[\frac{r}{n^r}\right]} = \frac{r^n + r}{r^n + r} = \frac{1}{0^+} = +\infty \quad n > -\frac{1}{r}$$

$$n^r < \frac{1}{r}$$

$$\frac{r}{n^r} > r \quad \leftarrow \frac{1}{n^r} > r$$

$$-\frac{r}{n^r} < -r$$

Subject: _____

Year: _____ Month: _____ Day: _____

(80/100)

$$\lim_{n \rightarrow r^+} \frac{x^r - f}{x^r - [x^r]} = \frac{(n-r)(n+r)}{(x-r)(x^r + r n + f)} = \frac{f}{1r} = \frac{1}{r}$$

 $\frac{0}{0}$
 $\downarrow$
 $(\sqrt[n]{x})^r + r^r$

$$\lim_{n \rightarrow -1} \frac{n^r + 10n + 14}{1r + 9\sqrt[n]{n}} = \frac{(n+r)(n+1)}{9(r+\sqrt[n]{n})} = \frac{(n+r)(\sqrt[n]{n}+r)(\sqrt[n]{n^r} - r\sqrt[n]{n} + \epsilon)}{9(r+\sqrt[n]{n})}$$

 $\frac{0}{0}$

$$\rightarrow \frac{(-9)(r+r+f)}{9} = -1r$$

$$\lim_{x \rightarrow 0^-} \frac{\sqrt{r+x} - \sqrt{r-x}}{\sqrt{1-\cos x}}$$

 $\frac{0}{0}$

$$\times \frac{0}{0} \quad \frac{F(x)}{f(x)} = \frac{(r+x - r+x)}{\sqrt{1-(1-\frac{x^2}{r})} (\sqrt{r+x} + \sqrt{r-x})} = \frac{-f}{r} = -r$$

 $\frac{10x^r - x}{\sqrt{r}}$

$$\lim_{n \rightarrow 0} \frac{k + \cos(\sqrt{a} n)}{k n^r} = r \xrightarrow{\text{HOP}} \frac{-\sin(\sqrt{a} n) \sqrt{a}}{r k n} \xrightarrow{\text{HOP}}$$

$$\lim_{n \rightarrow 0} \frac{-a \cos(\sqrt{a} n)}{r k} = \frac{-a}{r k} = r \quad \frac{a}{k} = -9$$

Q70 $\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-a} + \sqrt{x} - \sqrt{a}}{\sqrt{x^2 - a^2}}$ 9

$$\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-a}}{\sqrt{x-a}\sqrt{x+a}} + \frac{\sqrt{x} - \sqrt{a}}{\sqrt{x-a}\sqrt{x+a}} \times \frac{\sqrt{x} + \sqrt{a}}{\sqrt{x} + \sqrt{a}}$$

$$\frac{x-a}{\sqrt{x-a}\sqrt{x+a}\sqrt{x+a}} = 0$$

$$= \frac{1}{\sqrt{a}}$$

$\xrightarrow{(-1)^+} \frac{1+k}{0^-} = -\infty \quad 1+k > 0 \quad k > -1$ 10

$\xrightarrow{(-1)^-} \frac{1+k}{0^+} = -\infty \quad 1+k < 0 \quad k < -\frac{1}{f}$

$$-1 < k < -\frac{1}{f}$$

$$-n < kn < -\frac{n}{f}$$

$$-1 < \cos kn < 0$$

